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7 100kN/mM%Z#8 %% - -~ - -|3mEB 25 -~ - - -| 100kN/mi%B 2% - -~ - -|3mZEZS -~ - - -
Zh s 100|000 ~ 382 48.04 | Thst | 000 ~ 382|212 10.73 Zhs 1.00]5.00 ~ 5.00 48.04 | TS | 500 ~ 5.00)2.12 10.73
2 100kN/ Mm% %5 - -~ - -|3mEEZD -~ - - -| 100kN/mM%i#BZ% - -~ - -|3mEEZD -~ - - -
Zh st 100|000 ~ 701 88.86 | #nust | ooo ~ 701|185 9.35 zhLs 1.00]500 ~ 890 88.86 | T4t | 500 ~ 890 | 1.85 9.35
3 100kN/mMZH#8 %% - -~ - -|3mzEB 25 -~ - - -| 100kN/mi%#B 2% - -~ - -|3mEBZS -~ - - -
ZThList 100000 ~ 763 97.71 | #hUS | 000 ~ 763|224 11.35 ZhLlst 1.00|56.00 ~ 1020 97.71 | 0S| 65,00 ~ 1020 2.24 11.35
P 100kN/mM%Z#8 %% - -~ - -|3mEB 25 -~ - - -| 100kN/mi%B 2% - -~ - -|3mZEZS -~ - - -
ZTh LS 100|000 ~ 769 98.60 | Ths | 000 ~ 769|259 13.10 ZTh st 1.00|56.00 ~ 1310 98.60 | ThLS | 5.00 ~ 1310] 2.569 13.10
5 100kN/m%i#8%5%| 1.00| 000 ~ 046 106.81 |3mEBZS -~ - - -| 100kN/m%i#Bz2%| 1.00 | 1216 ~ 1360| 106.81 |3mZEBZ5 -~ - - -
Zh st 100|046 ~ 825 100.00| Tns | 000 ~ 825|249 12.59 zhLs 100|500 ~ 1216 100.00| ZhLs | 500 ~ 1360] 2.49 12.59
¢ 100kN/m#Z#8z2%| 100|000 ~ 020 103.01|3mEBZ% -~ - - -| 100kN/miz#B2% | 1.00 | 1076 ~ 1130| 103.01 |3mZEBZ3 -~ - - -
Zh st 100|020 ~ 799 100.00| Tns | 000 ~ 799]2.30 11.61 zhus 1.00]5.00 ~ 1076 100.00| ZhLlst | 5.00 ~ 11.30] 2.30 11.61
100kN/mM%Z#8 %% ~ ImEBZD ~ 100kN/mZE#B %% ~ ImEEAD ~
Zh s ~ ZhLs ~ Zhs ~ ZhLst ~
100kN/ Mm% %% ~ IMEBRD ~ 100kN/ M%i#B A% ~ ImEBZD ~
Zh st ~ Zh st ~ Zh st ~ Lt ~
100kN/mM%#B % % ~ 3mEBRD ~ 100kN/m#%#B % % ~ ImEBZD ~
ZNLS ~ ZNLUS ~ NS ~ Lot ~
100kN/mM%ZH#8 %% ~ ImEBZD ~ 100kN/m%E#B %% ~ ImEEAD ~
Zh s ~ ZhLs ~ ZzhLs ~ ZhLst ~
100kN/ Mm% %% ~ IMEBRD ~ 100kN/ M%i#B A% ~ ImEBZD ~
Zh st ~ ZhLs ~ Zzh st ~ Zh st ~
100kN/mM%#B % % ~ 3mEBRD ~ 100kN/m#%i#B % % ~ ImEBZD ~
ZN LS ~ ZN LS ~ NS ~ ZnLlst ~
100kN/mM%Z#8 %% ~ ImEBZD ~ 100kN/mZE#B % % ~ ImEEAD ~
Zh s ~ ZhLs ~ ZhLs ~ Zh st ~
100kN/ Mm% %% ~ IMEBRD ~ 100kN/ M%i#B A% ~ ImEBZD ~
Zh st ~ ZhLs ~ zhst ~ ZhLst ~
100kN/mM%E#B %% ~ IMEHBRD ~ 100kN/ M%Z#B 2% ~ ImEBZD ~
Zh s ~ ZhLs ~ Zhs ~ ZhLst ~
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